
Appendix 1  

Assumptions While Filling Up the Survey 

Certain assumptions have been made while drafting this questionnaire. They are as under: 

1. Poverty means different things to different people. In India the scenario is very different 

from the Czech Republic. Ideally in the Czech Republic there are no people under the 

international poverty line. However many families are at risk of poverty. These are the 

people who are considered poor in the Czech Republic. On the other hand, there is a 

segment of people in India who struggle to make ends meet and hardly have two meals 

a day. Some of the questions in this questionnaire are formulated keeping the 

developing country India in mind since the effect of poverty on education in this 

country is more intense than in the Czech Republic. 

2. School means primary and secondary school for both the countries. 

3. Lunch is provided free of cost in the primary sections but in the higher secondary it 

might be chargeable. The question related to lunch has been targeted to be understood 

as free lunch provision in India for primary classes which is very important to increase 

enrolment where families struggle to survive every day. In the Czech Republic it can 

be regarded as the provision of free lunch for secondary and higher secondary grades 

which even though been subsided cannot be afforded by parents who are at risk of 

poverty.  

4. Private education is not very common in the Czech Republic as majority of the citizens 

rely on the public schools for education which is compulsory. Private schools are 

considered expensive compared to public schools which are free 

 

Appendix 2 Questionnaire 
 

 

Here I put my all question which I use on my survey there are total 15 question which you can 

seen here. 

 

 

 

 



 

 

 
 

 

 



 

 

 
 

 

 



 

 

 
 

 

 



 

 

 
 

 

 



 

 

 
 

 

 



 

 

 
 
 


